The Slope Formula
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The formula that is often used to find ∆ y over ∆x is:
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slope =  

where  and  are points on the line


Example 1:  

[image: image9.wmf](,)

xy

11

[image: image10.wmf](,)

xy

22

Find the slope of the line through the points (2, 0) and (3, 4).
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slope = 
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Now, graph the points on the graph to the right and see if this is the same answer you would have gotten yesterday from counting the vertical rise compared to the horizontal shift. 
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Determine the slope for each of the following lines given two points on the line.  Graph to confirm your answer.

   

1.  (2, 1) and (1, 4)                                                                                                                                   2.      (0, 3) and (2, 2)
Solution sheet
Example 1:  

Find the slope of the line through the points (2, 0) and (3, 4).


slope = 
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Now, graph the points on the graph to the right and see if this is the same answer you would have gotten yesterday from counting the vertical rise compared to the horizontal shift. 

Yes!  For every 1 unit horizontal shift, there is a vertical rise of 4 untis.


Determine the slope for each of the following lines given two points on the line.  Graph to confirm your answer.

   

1.  (2, 1) and (1, 4)                                                                                                                   
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Read “Change in y over change in x”
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2.  (0, 3) and (2, 2)
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